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Diff between CICE4 and CICE 6 code for stresses

1 Introduction

The equation for o7 (stressp) did not change. I set k; = 0 for simplicity. For oq

(stressm) we had before
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With the time discretization we have
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With what is defined in CICE4 we have

oé‘3+1d<211077l2_1 = o} + 1Dk,

J§+1 = (g§ + ch?) denom?2,

For 012 (stress12) we had before
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It is very similar to the o9 eq (by a factor of 2) so we easily get
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0@'1 = <af2 + 012D§1) denom?2,

Now in CICES6 (I used revp4 as the latest code)...Following Bouillon we have for
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With the time discretization we have
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With the new code (with revised evp as false) we have

oS (1 + arlzli) = of DEarlxli,
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With the definition of c0 (and revp=0) we have
a§+1 = (05 + coDéﬁ) denoml.
For 012 we now have
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Again as it is very similar to the o5 eq (by a factor of 2) we get

1
ol = (U’fz + 002D§> denoml.
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